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Quiz 5 |

Problem 1 [2pts] Consider W = {A € R?*? | AT = A}. Is W a subspace of E2%¥2? If the answer is
yes then find a basis for W and state the dimension of W. < Ve 65e A & -VV;
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Problem 2 [2pts] Suppose W = span{vi,vs,vs} C R™ for n > 3. Is W a subspace? If the answer is
yes then state the possible dimensions of W.
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Problem 3 [2pts] Let 8 = {1,2% z} be the ordered basis for P;. Find the coordinate vector of
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Problem 4 [4pts] For A given below:

: RN )
Find, G p\W"’ Calwnnf
(a.) a basis for Col(A)

(b.) a basis for Null(A); ( basis for the solution set of Az = 0)

(c.) solve Az = (1,1,1,1) if possible.
(d.) extend the basis of C'ol(A) to obtain a basis for R%.
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